Divide by Positive Powers of Ten (D)

Find each quotient.

6.3702 + 10* = 0.8478 = 10% =
0.1 +10%= 0912 =+ 10% =
4916 =10 = 9.9563 = 10% =
4877 +10% = 8.73 - 10! =
1.8052 = 10% = 4273 +10% =
6+10°%= 5.7058 + 10% =
45214 10 = 6.288 ~ 10% =
1.531 + 10% = 44981 = 103 =
7.1782 - 10! = 8.27 - 10! =
0.54 +10° = 0.3883 = 10% =
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Divide by Positive Powers of Ten (D) Answers

6.3702 + 10" = 0.63702

0.1 +10%=0.001

4916 + 10 = 0.4916

4.877 + 10% = 0.04877

1.8052 + 10% = 0.018052

6+ 10%=0.06

45214 + 10" = 0.45214

1.531 + 10* = 0.01531

7.1782 + 10 =0.71782

0.54 + 10° = 0.00054

Find each quotient.

0.8478 + 10 = 0.008478

0.912 + 10* = 0.00912

9.9563 + 10 = 0.099563

8.73 + 10' = 0.873

4273 +10%=0.04273

5.7058 + 10% = 0.057058

6.288 + 10* = 0.06288

44981 + 10° = 0.0044981

8.27 + 101 = 0.827

0.3883 + 10% = 0.003883
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